eTax 2 k. +4,80

An.A01

[HeB.KyX.CTonoBa,2cnan.,26-wc,Tepaca

0.693%

106.99

1030

110199.70

A
etax 2 k. +4,80 (A |An.A05 |3-eH |aHeB.Kyx.cTonoBa,2cnarn.,26-wc,ckn.tepaca 88.76 0.668%| 14.27|103.03( 1000.00{ 103030.00
etax 2 k. +4,80 [A |An.AQ09 |2-eH |gHEB.kyX.cTON.,cnan.ckn.,6-wc,Tepaca+nokp.T-ca 62.19( 31.69 0.468%| 10.00|103.88( 800.00( 83104.00
etax 3 k. +7,68 |[A |An.A11 |3-eH |gHeB.kyx.cTonoBa,2cnan.,26-wc,Tepaca 92.17 0.693%| 14.82|106.99 1080 115549.20
etax 3 k. +7,68 |[A |An.A20 |2-eH |gHeB.kyx.cTonoBa,cnan.,6-wc,ckn.tepaca 59.69 0.449%| 9.60| 69.29 1000 69290.00
etax 3 k. +7,68 |[A |n3ba 09|ns3ba 5.10 0.038%| 0.82( 5.92 600| 3552.00
etax 3 k. +7,68 |[A |n3ba 15|n3ba 2.26 0.017%| 0.36( 2.62 600| 1572.00
etax 7 k. +19,20 [A |An.A60 |2-eH |gHeB.kyx.cTonoBa,cnan.,6-wc,ckn.tepaca 59.69 0.449%| 9.60| 69.29 1000| 69290.00
eTax 9 k. +24,96 (A |An.A74 |3-eH |gHeB.kyx.cTon.2cnan.,26-wc,ckn., 2Tep. 94.35 0.710%| 15.17/109.52 1160 127043.20







eTax 2 k. +4,80 |b [OHEB.KyX.CTOf.,cnarn.ckn.,6-wc, Tepaca+nokp.T-ca 0.422% 93016.00
etax 2 k. +4,80 |b |[An.B02 |2-eH 58.81| 31.22 0.442%| 9.46( 99.49 800| 79592.00
eTax 2 k. +4,80 |B |An.B03 |2-eH |gHeB.kyx.cToN.cnan.ckn.,6-wc,21ep.+(2noKp.T.) 66.69( 30.65 0.502%| 10.72| 108.06 850( 91851.00
etax 2 k. +4,80 |b |An.B11 |2-eH |gHeB.kyx.cTon.cnan.ckn.,6-wc,Tepaca+nokp.T-ca 59.14( 35.96 0.445%| 9.51| 104.61 800 83688.00
etax 3 k. +7,68 |[b |An.b14 |2-eH |aHeB.kyx.cTON.CNan.ckn.,6-wc,2tep. 65.72 0.494%| 10.57 76.29 1110 84681.90
etax 3 k. +7,68 |Bb |An.B20 |3-eH |aHeB.kyx.cTon.2cnan.,26-wc,ckn.tepaca 86.00 0.647%| 13.83 99.83 1110( 110811.30
etax 4 k. +10,56 (b |An.B31 |3-eH |aHeB.kyx.cTon.2cnan.,26-wc,ckn.tepaca 86.00 0.647%| 13.83 99.83 1130( 112807.90
eTax 5 k. +13,44 b |An.B38 |3-eH |aHeB.kyx.cTon.2cnan.,26-wc,ckn.tepaca 87.42 0.657%]| 14.06] 101.48 1120( 113657.60




